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MATHEMATICS 
3C/3D 
 
Section Two: 
Calculator-assumed 
 
 

Student Number:  In figures          

 In words  ______________________________________________________________  

   ______________________________________________________________  

 

Time allowed for this section 
Reading time before commencing work: ten minutes 
Working time for this section: one hundred minutes 
 

Materials required/recommended for this section 
To be provided by the supervisor 
This Question/Answer Booklet  
Formula Sheet (retained from Section One) 
 
To be provided by the candidate 
Standard items:  pens, pencils, pencil sharpener, eraser, correction fluid/tape, ruler, 

highlighters 
 

Special items: drawing instruments, templates, notes on two unfolded sheets of A4 paper, 
and up to three calculators satisfying the conditions set by the Curriculum 
Council for this course  

 

Important note to candidates 
No other items may be taken into the examination room. It is your responsibility to ensure that 
you do not have any unauthorised notes or other items of a non-personal nature in the 
examination room. If you have any unauthorised material with you, hand it to the supervisor 
before reading any further. 

  

Please place your student identification label in this box 
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Structure of this paper 
 

Section 
Number of 
questions 
available 

Number of 
questions to 
be answered 

Working 
time 

(minutes) 

Marks 
available 

Percentage 
of exam 

Section One: 
Calculator-free 

8 8 50 40  

Section Two: 
Calculator-assumed 

12 12 100 80  

   Total 120 100 

 

Instructions to candidates 
 
1. The rules for the conduct of Western Australian external examinations are detailed in 

the Year 12 Information Handbook 2011. Sitting this examination implies that you agree 
to abide by these rules. 

 
2. Write your answers in the spaces provided in this Question/Answer Booklet. Spare 

pages are included at the end of this booklet. They can be used for planning your 
responses and/or as additional space if required to continue an answer.  
• Planning: If you use the spare pages for planning, indicate this clearly at the top of the 

page. 
• Continuing an answer: If you need to use the space to continue an answer, indicate in 

the original answer space where the answer is continued, i.e. give the page number.  
Fill in the number of the question(s) that you are continuing to answer at the top of the 
page. 

 
3. Show all your working clearly. Your working should be in sufficient detail to allow your 

answers to be checked readily and for marks to be awarded for reasoning. Incorrect 
answers given without supporting reasoning cannot be allocated any marks. For any 
question or part question worth more than two marks, valid working or justification is 
required to receive full marks. If you repeat an answer to any question, ensure that you 
cancel the answer you do not wish to have marked. 

 
4. It is recommended that you do not use pencil, except in diagrams. 
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Section Two: Calculator-assumed (80 Marks) 
 
This section has twelve (12) questions. Answer all questions. Write your answers in the spaces 
provided. 
 
Spare pages are included at the end of this booklet. They can be used for planning your 
responses and/or as additional space if required to continue an answer.  
• Planning: If you use the spare pages for planning, indicate this clearly at the top of the page. 
• Continuing an answer: If you need to use the space to continue an answer, indicate in the 

original answer space where the answer is continued, i.e. give the page number. Fill in the 
number of the question(s) that you are continuing to answer at the top of the page. 

 
Working time: 100 minutes. 
 
 
Question 9 (5 marks) 
 
For events A and B; 

( ) 0.5, ( | ) 0.3 ( ) 0.8.   and       P A P B A P A B= = ∪ =  
 

(a) Calculate ( )P A B∩  (1 mark) 
 
 
 
 
 
 
(b) Calculate ( )P B  (1 mark) 
 
 
 
 
 
 
 

(c) Calculate  ( )P A B∩  (1 mark) 
 
 
 
 
 
 
 
 
 
(d) Are events A and B independent? Justify your answer.  (2 marks)  
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Question 10 (8 marks) 
 
Suppose that 9% of people in a certain community live alone. 
 
Sixty percent of people who live alone own pets, whereas only 3% of people who do not live 
alone own pets. 
 
 
(a) What is the probability that a person chosen at random from this community owns a 

pet? (2 marks) 
 
 
 
 
 
 
 
 
 
 
 
(b) What is the probability that a randomly-selected person from this community neither 

lives alone nor owns a pet? (1 mark) 
 
 
 
 
 
 
 
(c) What percentage of people from this community who own a pet live alone? (2 marks) 
 
 
 
 
 
 
 
 
(d) In a group of 30 people in this community, four live alone. If six people are selected from 

this group, what is the probability that no more than two of them live alone? (3 marks) 
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Question 11 (5 marks) 
 
When an amount $A is invested at an interest rate of r% per annum, compounded ݊ times per 

year, the value $V of the investment after one year is given by  1 .
100

nrV A
n

 = + 
 

 

 
Kelvin invests $6000 at 8% per annum interest for one year. 
 
(a) What is the value of the investment at the end of the year if interest is compounded 

twice per year?  (1 mark)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(b) If interest is compounded monthly, by what percentage does the investment increase 

over the course of the year?  (2 marks) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(c) If the investment were to be compounded more frequently, could the value of Kelvin’s 

investment rise above $6500 at the end of the year? Justify your answer. (2 marks) 
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Question 12 (9 marks) 
 
Each day, a company produces ݔ thousand units of commodity X and ݕ thousand units of 
commodity Y. 
 
Each unit of commodity X earns a profit of $21, and each unit of commodity Y earns a profit of 
$15. 
 
The feasible region for the company’s daily production schedule is the triangle shown below. 
 

x

y

B(5,20)

A(13,28)

C(25,16)

 
 
 
 
(a) Determine the inequality satisfied by ݔ	and	ݕ that corresponds to the edge AB of the 

feasible region. (2 marks) 
 
 
 
 
 
 
 
 
(b) Determine the maximum possible daily profit. (2 marks) 
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(c) The company decides that the amount of commodity Y produced cannot be more than 
three times the amount of commodity X. 

 
 How does this additional constraint affect the maximum possible profit? Justify your 

answer. (2 marks) 
 
 
 
 
 
 
 
 
 
 
(d) Changing market conditions will cause changes to the unit profits for commodities X 

and Y. 
 
 On each of the next seven days, the unit profit for commodity X will fall by $1, and the 

unit profit for commodity Y will rise by $1. 
 
 Describe how these changes will affect the maximum possible daily profit over the 

course of the next week. (3 marks) 
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Question 13 (7 marks) 
 
The lifetimes of Glowbrite light bulbs are normally distributed with mean 3500 hours and 
standard deviation 200 hours.  
 
(a) What is the probability that the lifetime of a randomly-selected bulb is at least 3400 

hours? (1 mark) 
 
 
 
 
 
 
 
 
 
 
 
 
(b) Calculate ݐ, given that 5% of Glowbrite bulbs last longer than ݐ hours.  (1 mark) 
 
 
 
 
 
 
 
 
 
 
 
(c) What is the probability that a Glowbrite bulb will last no more than 3500 hours, if it has 

already lasted 3200 hours?  (3 marks) 
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(d) The company also produces Ultrabrite light bulbs, whose lifetimes are also normally 
distributed, with the same standard deviation of 200 hours but with a possibly different 
mean ߤ hours. 

 
 A quality control expert at the company wishes to estimate ߤ using the mean lifetime of 

a random sample of Ultrabrite bulbs. 
 
 How large should the sample be in order to be 95% confident that the estimate will be 

no more than 10 hours in error? (2 marks) 
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Question 14 (5 marks) 
 
During a volcanic eruption a rock is ejected from the top of the volcano. The rock rises upward 
and then falls onto a flat plain 1500 metres below the top of the volcano. During its flight, the 
vertical velocity of the rock, ݒ m/s, is given by 
 

160 9.8v t= −  
 

where ݐ seconds is the time after the ejection of the rock. 
 
(a) How high does the rock rise above the top of the volcano? (3 marks) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(b) How long does it take for the rock to reach the plain below? (2 marks)  
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Question 15 (4 marks) 
 
In the diagram below ABC is a right-angled triangle, and M is the mid-point of the hypotenuse 
BC. 
 
                                  B 
 
 
                                                                               M 
 
 
 
                                  A                                                                                      C         
 
 
Prove that M is equidistant from each of the vertices A, B and C. 
 
Hint: Start by drawing the line through M that is parallel to the side AB. 
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Question 16 (11 marks) 

The mean ߤ and standard deviation ߪ of the uniform distribution on the interval [a, b] are given 
by 

.
2 2 3

 and 
a b b aμ σ+ −= =  

 
A calculator can generate random numbers that are uniformly distributed between 0 and 1. 
 
(a) For this distribution of the random numbers generated by the calculator, calculate 
 
 (i)  the mean.  (1 mark) 
 
  
 
 
 (ii)  the standard deviation (to three (3) decimal places). (1 mark) 
 
 
 
 
 
 
 
 
 
 
 

(b) What is the probability that a randomly-generated number lies between 
1

4
 and

1

3
? 

  (1 mark) 
 
 
 
 
 
 
 
 
 
 
(c) What is the probability that a randomly-generated number contains no seven in its first 

five (5) decimal places?  (1 mark) 
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(d) What is the probability that a randomly-generated number contains at most three odd 
digits in its first five decimal places? Give your answer to four (4) decimal places. 

 (2 marks) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(e) What is the probability that the sum of 500 randomly-generated numbers exceeds 260? 

Give your answer to four (4) decimal places. (3 marks) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(f) Another uniform distribution on an interval [ , ]a b  has a standard deviation of 2 3 . How 

wide is the interval? (2 marks) 
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Question 17 (7 marks) 
 
Let A denote the average of the squares of two numbers ݔ and ݕ:  

( )2 21 ,
2

A x y= +  

and let B denote the square of the average of ݔ and ݕ: 
2

.
2

x yB + =  
 

 

 
 
 
(a) Evaluate A and B in the case 5x =  and 7y = . (1 mark) 
 
 

 
 
 
 
 
 
(b) What can be said about A and B if x y= ?  Justify your answer. (2 marks) 
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(c) Examine the difference between A and B for various values of x and y and state a 
conjecture about A and B. (1 mark) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(d) Prove the conjecture in part (c). (3 marks) 
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Question 18 (7 marks) 
 
A cable hanging between two points ( 1,0)A −  and (1,0)B  lies on the curve  

,cx cxy e d e−= − +  

where ܿ and ݀ are positive constants. 

 ݕ                                                                            

 

 

                                A                                                                            B 

                           െ1                                                                                  1                     ݔ 

 

 

 

 

 

 

 

(a) Show that c cd e e−= + . (1 mark) 
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(b) Use calculus to show that the lowest point on the cable occurs where it crosses the  
y-axis, that is, where 0x = . (3 marks) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(c) The length s of the curve ( )y f x= , between the limits x a=  and x b= , is given by the 
formula 

2

1
  

 

b

a

dys dx
dx

 = +  
   

 
 Use this formula to determine the length of the cable if the lowest point of the cable is 10 

units below the level of the supports ܣ and ܤ. (3 marks) 
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Question 19 (8 marks) 
 
A water trough has the shape of a trapezoidal prism. It is 300 centimetres long, 60 centimetres 
high, 80 centimetres wide at the top and 50 centimetres wide at the bottom. A sketch of the 
trough is shown below (not to scale). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(a) The top surface of the water in the trough has the shape of a rectangle whose length is 

300 cm. Show that if the water in the trough is ݄ cm deep, then the width of this 
rectangle is50 0.5h+ cm.  (2 marks) 

 
 
 
 
 
 
 
 
 
 
 
 
(b) Show that if water in the trough is h  cm deep, then the volume of water, V litres, is 

given by (15 0.075 )V h h= + . (2 marks) 
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(c) Water is being pumped into the trough at a rate of 40 litres per minute. At what rate is 
the depth of the water increasing at the instant when the trough is half full by volume? 
Give your answer correct to the nearest centimetre per minute. (4 marks) 
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 End of questions 

Question 20 (4 marks) 
 
(a) Find the volume of revolution obtained when the line ,y mx=  between the limits 0y =  

and y h= , is rotated about the y–axis. (2 marks) 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
(b) Use your answer from part (a) to show that the volume V of a cone is given by 

1
3

V Ah=  

 where A is the area of the base and h is the height. (2 marks)
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End of questions 

Additional working space 

Question number:   _____________________________  
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Question number:   _____________________________  
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Question number:   _____________________________  

  



 

 

Published by the Curriculum Council of Western Australia 
27 Walters Drive 

OSBORNE PARK  WA  6017 

This examination paper – apart from any third party copyright material contained in it – may be freely copied, or communicated 
on an intranet, for non-commercial purposes in educational institutions, provided that it is not changed and that the Curriculum 
Council is acknowledged as the copyright owner. Teachers in schools offering the Western Australian Certificate of Education 
(WACE) may change the examination paper, provided that the Curriculum Council’s moral rights are not infringed. 
 
Copying or communication for any other purpose can be done only within the terms of the Copyright Act or with prior written 
permission of the Curriculum Council.  Copying or communication of any third party copyright material can be done only within 
the terms of the Copyright Act or with permission of the copyright owners. 
 

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


